20194F9A8H ERILEMRARERE I=Fa7/\(RE—F BEHExE

IESL| BB v SINER P {E3] Kig BA L mERAUE waer | #ER
1| 24| 245|545 A K& E7) 2 |1ZvIR 7.81 781 | R
2| 62| 250|=1 #— Y&> @ |V evsTvtnTT? 8.66 8.66 | BX
3| 56| 257|AF #th 40— S EVIV 3 8.68 8.68 | B
4] 10| 263|FBE K& f=o< @ N|Z=FaF7I—FIL 9.36 9.36 | BX
5| 19| 249|548 #H— BY S VACPAd Bl 9.61 961 | B%
6| 16 272|FF A Ly S [vavbaub =7y 9.83 9.83 | BX
7| 12| 235//hE HEAfE BER (vh) 2 |wh-7- 9.85 985 | iR
8| 31| 273|@A =F La—v S [vavbauh =7y’ 9.94 9.94 | BX
9| 65| 264|FE K 'y @ |Z=FaF7T—FIL 10.01 1001 | B%
10| 35| 2423RE —%& Jxhi 2 |MIVFLRE-TUT 10.20 1020 | BX
11 1| 289fkiy £ FLBA (29 41) S |MMT—=FL 10.28 1028 | iR
12| 55| 228[#% K BT 2IlE=T 1L 10.40 1040 | R
13| 47| 291(=@ HEA INACER |V evsvtnTT? 10.46 1046 | R
14| 34| 218|KE f#z Pa—L & [91hya1-4"-A"v7'R-Y 10.47 1047 | R
15| 42 206|{RHE T 4 A |3=FaTE VY- 10.53 1053 | iR
16| 38| 277|°FE & 40 Sl A == 10.64 10.64 | BX
17| 4| 226/MIl DX |FF |V evsvtnTT? 10.75 10.75 | 30
18] 2| 215|KE 2z Eva 2 |91hvaa—$-A"v7'n-4 10.92 1092 [ 29
19| 14| 285|&@E &= £ | 10.99 10.99 | 28
20 30| 290|=H E# rZF 2 (Vi TyY 11.03 11.03 | 27
21| 67| 216|KE &z AY T 2 [9zhvaa—%-Av78-9 11.16 1116 | 26
22 66| 221|X%M E Latte (77) 2 ¥ vt T? 11.22 1122 25
23| 46| 247|&4E HA 407 @ |bT—FL 11.32 1132 24
24| 7| 258|mH EiF HB A |ZVIR 11.33 11.33 | 23
25 44 207|%R B ED 2 ¥ vt TT? 11.43 1143 | 22
26( 60[ 275|RJIl £EF |DZb 2 ¥ vt TT? 11.56 11.56 | 21
27| 15| 292|228 w2z Ry @ |V iITvENTYT 11.63 1163 | 20
28 63[ 293|IUTF AEF |UHT: 2 |MT—=FIL 11.85 1185 19
29 36 233| KT FiA Y-y e Ve SIS VNN SV 11.93 11.93 | 18
30| 45| 240|/MER Y |FEA @ |V evsvtnTT 11.94 11.94 | 17
31| 23| 276|RII E£FF [Khdb 2 ¥ vt TT? 11.96 11.96 | 16
33| 50| 217|KE 1Bz 7TV & |91hvaa-%'-Av7n-4 12.03 1203 | 15
34| 28| 236|/NE& HR 22 (HLVY) R |awh-7"- 12.20 1220 | 14
35 25| 253|&MO EF A/ S VESTS VIR SV 12.23 1223 | 13
36 26| 294|ILEA HE EEAQNNY) 2 ¥ vt TI7? 12.26 1226 | 12
37 9 246|FE IEF (63.9) 2 |MIVFIRE-TYT 12.41 1241 | 11
38| 64| 229|EE F= T7UK @ |k T—F)L 12.47 1247 10
39 17| 211|RJII BFE LUCY (b=¥-) 2 [V evhvenTyT 12.71 1271 9
40 29| 238|/h#k EE HABE (F13) 2= 12.90 1290 [ 8




20194F9A8H ERILEMRARERE I=Fa7/\(RE—F BEHExE
IESL| BB v SINER P {E3] Kig BA L mERAUE waer | #ER
41| 39| 283|FkE BEE |[EM)) I |4 13.32 1332 | 7
42| 37| 222|KEF #HF ARh— @ |V evsTvtnTT? 13.35 1335 6
43| 41| 205|FHE 1% HAT 2 ¥ vt T? 13.45 1345 5
44 59| 213|KAR =F |BREET & |/E3v 13.97 1397 | 4
45 22| 208|t#EME HF AL 2 |MT—=FIL 14.09 1409 [ 3
46| 18| 244|7&HE 3= K4 2 /33> 14.43 1443 2
47] 68| 280IFXR LDA [Lwlw R 13— %v—TIT 14.54 1454 [ 1
48| 13| 266|FJIl EF EF (hALa) @ [FenurEssFe-nRANZIN 15.19 15.19
49 6| 214|KAR |F |FRLAZF) g |/\E3Y 15.29 1529 [ S
50| 27| 234|EFH ALY (REY |V evsvtnTT? 15.89 15.89
51 54| 225/l 2% [T 2 ¥ vt 17.24 17.24
52| 57| 251(mL fEH DA @ |V ws7vENTYT 17.50 17.50
53 49 284|#E BEAF B.B.t't) |V evsvtnTT? 17.59 17.59
54| 43| 252(&FL BEF 7RA 2 ¥ v TI? 17.90 17.90
55| 58 261[it)Il #A EE(L) 2 [EvoR 18.19 18.19
56 52 265|FR)II F BX (7M1 2 ¥ v TI? 18.90 18.90
57| 40| 201|%%E EA TAEE |V evsvtnTT? 21.14 21.14
58| 33| 282[&&R HETF [&F 2 ¥ vt T? 22.28 22.28
59 3| 209|EAX FHF |EfmGIY) 2 |2—R— 2243 22.43
60| 21| 204|thE HEAR =y A [3=FaTFvIRIUN 23.68 23.68
61 51| 243[;Z@E B4t z5 |V evsvtnTT? 23.74 23.74
62| 5| 219|K¥ D&L 9% A [3=FaTFvIRIUN 26.05 26.05
63| 20| 271|EH fEF ) 2 EvoR 27.03 27.03
64 53[ 210|EX FHRF |EBEY) 2 |—R— 35.67 35.67

1] 2603FAK {EHE [Ryb S ESp 8 Zoh Zoh

61| 220| K% VARWE |CAS & |MIVFIRI-TIT 545+ AN

8| 288|#NiE wH NF 2% 44 hF—— 4 LF——

48| 239/hék EE &A1) I % 40—~ 4464-nN"—-| BR

BoHAE S HUTUTEGER




20194F9FA8H EHItEMRREKRE S=FaF7/\fRAE—F RBHEK

5

RS
3L
3L
RS
E=F:i]

RS
E=F:i]
RS

E=fic]




20195F9A8H EHitEMRRERSE I=Fa7/\fAE—F BEHR

5

E=fic]
Hh:E)




